AOULY
&“\:‘;‘;—.}111‘;
SR FIED N
St O o5y

"‘ 2 99,4
| TRINITY GLASS - | A S i3
I INTERNATIONAL

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

6'0 X 68 |
GLAZED PREMIUM FIBERGLASS 74" MAX. O.A. FRAME WIDTH

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

"NON-IMPACT" -
/ / 4| 35
‘ , | S
4 4 5| =3
/ / o | 3%
s |y 59
: T |g g
EVALUATED FOR USE IN THE STATE OF TEXAS o gg 4 0
T i <
The Fiberglass Door system described herein complies with the 2018 Infernational E 3 = |z §§
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code s X X 3l & |& t@-lé‘
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions: > O o &
= O WEIE S
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment 3 = =
to base material shall be beyond wall dressing or stucco. @
2. When used in wind borne debris regions, the opaque door panel has been tested / /
and evaluated as an impact resistant product and does not require the use of an // //
approved impact resistant covering. The sidelite must be protected with an impact / /, %)
resistant covering that complies with Sections R301.2.1.2 and 1609.1.2. This opaque / ' / o
door meets missile level "D" as defined in ASTM E 1996. >
o

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.
4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

7/23/09 |TDI PRODUCT EVALUATION UPDATE | AL
6/28/06 |REVISED LOCKSET NOMENCLATURE | EW

2/12/20 |UPDATE T0O 2018 IBC/IRC

1 Typical elevations, design pressures & general notes

2
1

%)

NO| DATE

2 Door panel construction details & glazing details

3 Horizontal cross sections DATE: 8,/26,/05

4 Vertical cross sections

5 Frame anchoring INSWING 74.0" x 81.88" +45.0 -50.0 scae:  N.T.S.

6 Components ENDURA ow. Bv: EW

7 Endura astragal details OUTSWING 74.0" x 80.75" +45.0 -45.0 chk. Bv:  LFS
5 ry DRAWING NO.:

8 Bill of materials -

sHEer 1 oF 8

R:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-212\C - Drawings\DR-212 2018 IBC\TX-592.dwg, TX-592

© 2009 R.W. BUILDING CONSULTANTS INC.



"ON| SALNVLINSNOJ 9NIaging

‘Mm'd eaoz Qg

2S8LL—d # NOLVALSIOZY 40 3LVOI4ILY3D SNOISIAIY -
SYIINIONT WNOISS340¥d 40 a¥vOo8 SvxaL m@%@m}m&mm&o.‘m\q«« Qmm\%\%wa Ad 31vd [ON 9l lx|n 8_
TR — M3 | FINLVIONINON L3SHO0T 03SIA3M| 90/82/9 | L |0 |F || & |,
$65EE “14 OOMIDA OSZ X08 ‘O°d \S‘ "A18W3SSY_¥0 1avd [ v [3ivadn NOLVNIvAI 1ondoyd IdL|60/cz/2 | ¢ |<o|=| |7 |. » | 5]
36h] TEiRTSESNOS. SHEE @. S31 0dl/281 810z 0L 31vadn| 0z/z1/z| £ || = 2 ol 2_
SSY1943814 31NdIN WNIKISd ©f 1&5|&|e ~
*3'd “IPIWYDS °4 UOpuA] :Ag pedodeiq sjuswinooq :19Na0yd SI91815 W 5
54 =i = N
g z2 (3 S
[ =
= \ O
. ~ N .
M N R N ut m
7 N 3
: ® :
= pow= )
O o3 > W < >
)
(@)
=t
. - ! :
3 —® A 28 5 5 5
L —— s O W o I w 1% N
m :mm _.I' = \ = v w ] *
% J 5 & ¥ 03 o o S
= — Tl | S oS M. -0 < 4D
- = ; | « o 921
®-~ : =1
=] Pz | \ -
| 7 E = A\ [
i X | B 8
IO [5)
\Z ” % _i\\\ 7227 ‘v\? W
@) N Ll
o Y IO
) [, —— A ,... ..”
= W P | \“\
= O
5 i N
SN w * 5. u “ ~f 2L
5 - 73 s
L
23
Ly | < 1
A\ <
£ »
o oz [+ =
2 of Y A s ?1 — — <
L ml () (1) [
g 2 = . () (+) &
o = W10 § L N A /
O = N\ A /
/V P~ : |
e \\th...
~ o + 3 96 ——=—05G —=— oy
&) e . E ©
b Q 8191 -
= ®
. 2
Tk v ot I :m_. _. Lt
i = —— ._N.v.o ~
i Ll :Om.m —‘l __mN_..mumu I o
Py o)
ks 33 4o ‘m ! Q
5 : - ~ m
; %8 . 4
=z |2 ~ ~ %
oo > =
M o M /// ==
@) ~ W
= ~ =
5 2
@)
2 /@ . ~
o D
= -
8o ‘O'Td XYW.00€9 |
oF
= 1IHOIFH 1INV XYW ST 6.

2 'Bmpz65-X1\081 8102 2lz-dd\sBuimelq - D\zLz-4a\sul 4o 3daq sexal - G\LNINVINY3 558D AUt \sjusld\y



R:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-212\C - Drawings\DR-212 2018 IBC\TX-592.dwg, 3

Yo"
A
N

N
2 3 4
4 4 4

DRYWALL X\

111111111117 11111717°

D S S S

A ‘1‘ N

A

A

®

INTERIOR

EXT. SHEATHING /

@54

i
O

& EXTERIOR

m HORIZONTAL CROSS SECTION

3/

Outswing shown

Inswing also approved

LOCK: 740 zl

KWIKSET | peapsotr: 780 22

LOCK: COMBO 660 | 21

KWIKSET | peapBoLr:  comBo sso | 22

LOCK:  MAX.SECURITY | 2]

SCHLAGE | DEADBOLT: MAX. SECURITY | 22
INTERIOR

o/

\\

7”5\ HORIZONTAL CROSS SECTION

\g/ Columbia astragal

55

INTERIOR L

7

/’/

EXTERIOR

23

A\

7
5

7“2\ HORIZONTAL CROSS SECTION

w Endura astragal

12

/

o0 \:\x\.\\\l 0

~° 1
Soxkind sy
XIS T
~ A("." :I $ (3 )
2 Uy s . 7
Db (010 Ghv
ﬁLL." £ Ew ‘:\—J ‘2&
GOl Pmiviz @
gox Vhizie &8
f(\» . : O 13 o
Oa.,  iai S\°S
Iei(&‘.,““ézg ,.-Q'\QQ“
zzh‘:.p(!ﬁ e ,5:."

INTERIOR (37

4

W

EXTERIOR @

/~ 4\ HORIZONTAL CROSS SECTION

\\y PVC astragal

INTERIOR

/@/@

//

A\

EXTERIOR

®

m HORIZONTAL CROSS SECTION

\\3/ TRC astragal

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.

Documents Prepared By

P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

(75) n
(7p) =
S o
=
O

e | 8
nle 9]
[7p]
Qquu |.., &
= | =
oF g ©

S S
£ ol 2
= 0| <
Z= |9 =
LED [ S
5175 |g| &
S ] o @
[m} & |_O
o| &> x|l T

@ <

o a
v >
- %)

2/12/20 [UPDATE TO 2018 IBC/IRC

7/23/09 |TDI PRODUCT EVALUATION UPDATE | AL
6/28/06 |REVISED LOCKSET NOMENCLATURE | EW

M

NOJ| DATE

1

N

REVISIONS

DATE: 8/26,/05

SCALE:

N.T.S.

DWG. BY:

Ew

CHK. BY:

LFS

DRAWING NO.:

TX—

592

SHEET 3

oF_8

© 2009 R.W. BUILDING CONSULTANTS INC.



*ON| SANVLINSNOJ 9NIaTInNg "M'd 6002 @

ZG8LL—4 # NOLWMLSIORN 40 3LVOI4ILYIO v SNOISIAZY VG ToN
SHIINIONT TTVNOISS340¥d 40 Qivo8 SvX3l wn . [ve)
P — SNOLD3S SS049 valldn M3 | JNLVIONINON L3SMO0T 03SIA3Y| 90/82/9 | L | Q| = m al r_
GBSEE 4 OOMIDA OSZ Xod ‘O°d \§ AT8W3SSV 80 18vd [ v [31vadn NOLLVATvA3 1ondodd idi|60/sz/2] 2 | Q| .88
SRl R BRI @. S 081/081 810z 0L 3vadn| oz/zi/z| £ [N =| | |2 L 4_
SSVY1943414 31417 WNINIEd @ HlEle +
SZIHOL# "3'd Swxal 1ANE SSYI9 - ALINIL SEIEIE 3
‘I°'d ‘IPIWYDS °4 Uopuiki :Ag peJpdeuq sjuswnoo(q :109NaoYd S8 W ool (=1 &
o= °57-2
o\
.)..\.((.(
B e )
SN 5EENE S %0»
% & €
............. AT
S LGINHOS 34 NOANAT &
o Tt
PSR\~ VV g
ORGSR e o
ZN.S.. L 40 MN)\W. O
Toeeoee™ o
[AW]
=
Z
=
o)
[
QO
a3
i -
b A a5
w O Q|o
z [ =)
m O (S]ke)
Q -] =
x <| 3
(=X=) 2 =2
0 85| 3
52 S 2
L
mw
=
x O (=X
= 2 8 i
2 @® 2 5
Q|3 O
Q)=
Q| @)
o]
=IO
< o
O\c
= SE
wl>
>|0
mw
o
O
(2’4
£
[UR]
[NN]
—
[4N)
o 35
o =z
O O
2 0
2 (=X
<
=
Y
("4
o
m - m ‘VZ‘,.,,..,E,.,.,E,..,,W o
&) & o = o
zl B < x
/ =i :
) 3 s
) s
8 8 SE
&l c W oz|.D
Z |30 = (Slh=
3 % 8 3°
e S2s g
S <
\ m53 wlS
>0 >|0
(24
Z @) e
T @) T
2 oz >
i o (VR
& >
‘“ W
>x<
[N E]

¥ 'BMPZ65-X1\D81 8102 2L2-da\sbuimeid - D\zLz-4a\sul J0 3dag sexal - G\LNINVINYId 5se|D Auu\sjualD\y



R:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-212\C - Drawings\DR-212 2018 IBC\TX-592.dwg, 5

2X FRAMING
(BY OTHERS)

Lo
] s

ASTRAGAL STRIKE

:

e ™
| z 4" (TYP)
o\ N 1
m. ® Ll @ — D
.. : .. IIA_AII =° g
I , / —. HEAD & JAMBS i |
55 2X FRAMING (TYP.) 1
2 I
» O I
. - Il N | R
i I _
Qb i | ASTRAGAL =
a:fy | SHOWN FOR =5
sooe 1l _ | LOCATIONREF. I ==
FRAME b
SEE I
HINGE |
DETAIL 2 I
_ 0 WOOD _
Il
0 CONCRETE |,
LIl | FLOOR SUBSTRATE MATERIAL L e
ofe]l | CONCRETE (MIN. 3000 PSI) ) |
g WOOD (5.G. >= 0.42) . —
I L1 11 |
HINGE JAMB FRAME ANCHORING
Stud construction
\
(1)outswiNG \
o
(Q)NsWING —r
>3
® [ @
/ \ Re H ool ™
= == == =
|i 0 tI " U —% - m \
\\
VIEW A-A VIEW B-B HINGE DETAIL 1

Astragal strike @ head

Astragal strike @ sill

L
% .
Nﬁo-*‘:":\':}“’»l Y
oy -ﬁ(‘k.:o: .u'; n
,.»:7}% s %9 o ma
gov ixi N|z* 8 ge
5~ 1O %4 2m 94
., 2 2R ‘e = N Wl
() L g F N
et [T .do’ 4
At |53 £.a 2
ows 12 NS Z8a 2z
X 1O sk Ectupn 90
[A‘—".. 10 a 5’3"? 8
822‘/& ...... 12 R mé
X xin i Zow S0
Ml B SR. zo
T @ g o
o 03Z
o Zm Ol
L o 2 o
a 256 ©
[ 50¢ %E
o moo 06
m
s D
c
: g5
3 FO
[
o
9p)
w)
3
2 &)
\ Zh =
=m @
\ nic o
=2 S
S= 3 =
od |zl <
=1 ="
L
= Wl s
Zs ||
LED [ E
I—HE o
ol'@ |8
(]
®§ A
o <
= o a
[l
R olalz>-
Li<|W|m
\ L Ly
=l
<
A\ QQ_E
513
o|z|2
Xio|u
STRIKE PLATE DETAIL = &l o
Astragal D(3(= CZ>
|- ot
Q> wn
—||n v)
o e >
N|=|O [}
ol3Io| [x
I—-Q"
S
\\ WD
\ glg
52|
oo |©
N[O (O
L
* H.° NN
L O NN S
{.— 3 SAIN
L] & .
— || =[S
DATE: 8,/26/05
m scAle:  N.T.S.
DWG. BY: EW
CHK. BY: LFS
DRAWING NO.:
HINGE DETAIL 2
TX-592

SHEET 5 ofF 8

© 2009 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOJ aNIaing "M"'sy 6002 @

ZSBLL—d4 # NOILVYLSIOFY 40 3ILVOIILYIO e SNOISIATY e
SY3I3INIONI TVNOISS3408d 40 Quvog Svx3l n . o0
L616'650°CLE FON Suold A0 M3 | IYNLVIONINON 13S¥007 d3SIA3d| 90/82/9 | L | Q| V) = m N r_
G6SEC 14 OSMIDA O£Z Xod ‘O'd \Sv ‘ATBW3SSY d0 Luvd | v | 31v¥adn NOLLYNIYAI 10Ndodd IdL| 60/s2/, | T © _m .0 |°
“ONI “SINVITNSNGS SNITIfE @ SH1 0¥I/281 8102 01 31vadn| 0z/21/Z2| £ |\ e 2 V_A 6_
SSY1943814 31NdIT WNINT&d © SlEle ~
CZILPOL# ‘3'd SVX3aL 4LZ~ SSY19 ALINIYL E M & W m
‘3°'d “IPIWYDS *4 uopuh :Ag pedpdeuad sjuswnooq 119NJ00Y¥d =g W w 4 z
__om._I.AAlv.A
o :
) . e g w - o
C2, O RS 0] nNu - T—
:w.mo\w\fw\ n*o \\\,.V-.h...(( R.. =z M o
~ﬂHfC/./../.8\(( W.._ 4 [ve)
33 A
N
W20 ]
I : i
’ <
(0] =4 y 5
o —
&5
* 36
(e}
_H ]
48 - o
& .
53 B
[ ~
(o)
(o]
:mR-
— :OO-F —‘,
[ 2]
[--]}
2
= [a
a r 3
= = <
T “ i2
= o = &
0 L
0 a e e
T - o i =
e S < z
< 8 S
©, ®
- :WN._. [ |
—  LE'
"4 :WN._. 4A|
00'F =
11 D
3
X w
_ S &
w x|.C
P tlo o = =
- - nNU m
z (o 0]
EN O O . & 2 0 SE
S e - <t he}
T & = a 5 Bls
4 T = ol
O =7
\ ® ©, ®
O (@) 1
o

9 'Bmpz6S-X1\D8l 8102 zLz-¥a\sbuimelq - D\zLz-ya\su| 4o 3daq sexaL - G\LNINVINYI 558]D Alun\sjualD\y



‘ON|] SLNVLINSNOJ aNIging "M's 6002 @)

ZS8LL—d # NOLWVNLISIOFN 40 3ILVOI4ILN3D g SNOISIASY 31vd TON
SYU3IIANIONI TVNOISS340dd 40 Quvog Svx3l n . [06)
P SHVASA vovelSy  veNaNa M3 | 3INLYIONIWON 135007 d3SiA3d| 90/82/9 [ L |Q| 4| F 2 o _
. s =2 -~ (e)] L
GESEE 14 OOUIDA 0EZ XO8 O°d \§ *A18W3SSVY_¥0 18vd [ v [31vadn NOILVNIYAT 10Ndoyd 11| 60/52/7 | € <l .5
oKl SIRYLTISNGD SNIINE @a S31 O¥l/081 810z 0L 31vadn| oz/zi/e] € IN|<| | |2 .\ 7_
SSYI1943814 311dIT WNIW3Yd @ & 5|12~
L TANTSSVI9 ALNIEL ~ EIFINE e
‘3'd IPIWYDSS 4 uopuki :Ag pedodeuq sjuewnoog 119N00¥d SI81E13 m 7]
cef/'2
£
2 B
E el
&< Zlo
* Zlo ]
<5 e
. P i o [ _..uulﬁU
3 Sl 2 o
WoLOd - % i sz
- T RE T o=
=) ==
« o ._om.-o @ :OWOIv
[ ‘%’l”
bl | ﬂ
| 5
D
=
_ ' 5
= &
o) !
z &
= in
=] K
T o =
O S, [ 89T S
< - o
@) . <38
o
Lo &g S’
7 S8
-
o > >
D= o) in </
@ £ ~
L 171
a2 <
LA <8 T
o ) [@)]
le o) 33 N
o o G m i -
« =|a S| <
o 5o £
| | <3 2
o ) =
Jo Ol 3is £
S » X = > <
= =
0 5 =
o ©
0
o
S |
@)
T
D
(a4
I
=
_U o
O
o
&)
w O
- 20— |—
- Q
2 2
0 A\ -".d
N . A\Y o..olv
° _ A\ [--10%)
B A\ w
N Q|
0 ) ”.W
—_— B "]
O
o
_
(-]
-X-] <
%i » ]
2R VAN
N M O
o - V-V
dOl

L 'Bmp'z65-X1\04l 810Z ZLz-da\sbuimeiq - D\zLz-ya\sul 4o 1daq sexaL - g\LNINVINYId sse|9 Anuu1\sjuaiD\y



R:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-212\C - Drawings\DR-212 2018 IBC\TX-592.dwg, 8

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 33595

Documents Prepared By

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

.CERTIFICATE OF REGISTRATION # F—11852

TRINITY GLASS INT'L
PREMIUM LIPLITE FIBERGLASS
BILL OF MATERIALS

PART OR ASSEMBLY:

PRODUCT:

LFS
BY

,?9:\':?;}1111
P
oS ixi
FRTIR I S 3
Qi iR
‘?2;/6’ L iZ i
iRk
"M
BILL OF MATERIALS
ITEM| DESCRIPTION MATERIAL |ITEM| DESCRIPTION MATERIAL
A | 2X HEADER FRAMING SG >= 0.42 WOOD 31 | LVLLOCK BLOCK POPLAR
B [ 2X FRAMING SG >=0.42 WOOD 32 | HINGE STILE - SG >= 0.42 LVL/PVC
G | MAX. 1/4" SHIM SPACE WOOD 33 | TOP RAIL - POPLAR LVL & WPC COMBINATION POPLAR/WPC
| |3/16" X 2-1/4"ITW PFH CONCRETE SCREW WOOD 34 | BOTTOM RAIL - POPLAR LVL & WPC COMBINATION POPLAR/WPC
J | #10X 3"PFH WS STEEL 39 | FIBERGLASS SKIN 0.079" MIN. THICKNESS FIBERGLASS
K | #9 X 2" PFH WS STEEL 40 | #8 X 1-1/8" SELF THREADING SCREW STEEL
L | #8X2-1/2" PFH WS STEEL 42 | ALUMINUM & BUTYL SPACER SYSTEM ALUM./BUTYL
P [3/16"X 2-3/4"ELCO OR ITW PFH CONCRETE SCREW STEEL 44 | HOT MELT SEALANT / SILICONE -
Q |3/16"X 3-1/4"ITW CONCRETE SCREW STEEL 45 | LITE FRAME PC/ASA
3 | HINGE JAMB - FINGER-JOINT PINE - SG >= 0.42 WOOD 46 | FOAM CORE POLYURETHANE
4 | HEAD - FINGER-JOINT PINE - SG >= 0.42 WOOD 50 | FLUSHBOLT BAR STEEL
5 | INSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUMINUM 51 | 4-3/4" LENGTH TOP BOLT RETAINER HDPE
6 | DOOR BOTTOM SWEEP PVC 52 | 9-3/4" LENGTH TOP BOLT RETAINER ALUMINUM
7 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS - 53 | #8 X 1-3/4" PFH SMS STEEL
8 | #6 X 1-1/4" PFH DRYWALL SCREW STEEL 54 | ASTRAGAL STRIKE @ HEAD STEEL
12 | WEATHER STRIP QEBD450 Q-LON g, 55 | ASTRAGAL BY ENDURA PRODUCTS ALUMINUM
18 |3.983" X 4.0" HINGE MIN 0.098" THICK STEEL 56 | ASTRAGAL STRIKE @ SILL STEEL
19 | SILLKEY PC/ASA 57 | SLIDE BOLT ROD STEEL
21 | LOCK (SEE LOCK & DEADBOLT RATINGS CHARY) STEEL
22 | DEADBOLT (SEE LOCK & DEADBOLT RATINGS CHARY) STEEL
23 | STRIKE PLATE STEEL
23A | DEADBOLT PLATE STEEL
24 | #9 X 5/8" PFH SCREW STEEL
25 | OUTSWING HIGH-DAM THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM./ COMP.
26 | #9 X 1" PFH SCREW STEEL CONCRETE ANCHOR NOTES:
27 | OUTSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM./ COMP. 1. igngz’l‘;::cc:?é 'ﬁ,’ﬁ,ﬂl‘i”;,?,i the corners may be adjusted to maintain the min.
I o
30 | LATCH STILE - G >= 0.42 LVL/PVC 2. Cogcrefe anchor locaﬁor]15 noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

:

7/23/09 |TDI PRODUCT EVALUATION UPDATE| AL
6/28/06 |REVISED LOCKSET NOMENCLATURE | EW

2/12/20 |UPDATE TO 2018 IBC/IRC

NOJ/ DATE

1

N

3

REVISIONS

ITW BUILDEX

DATE: 8,/26/05

1apcon® | 14 1-3/4" vy g
ELCO " " " "
utiRacon® | 174 1-3/ 1 4

SCALE:  N.T.S.

DWG. BY: EW

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

CHK. BY: LFS

DRAWING NO.:
TX-592

SHEET 8 oF 8

© 2009 R.W. BUILDING CONSULTANTS INC.



